Case Study 1

AutoCare Ltd. (ACL) is a federally incorporated public company formed in 1989 to manufacture and sell specialty auto products including paint protection and rust proofing. By 2002, the ACL board of directors felt that the company’s products had fully matured and that it needed to diversify. ACL aggressively sought out new “concepts,” and in November 2002 it acquired the formula and patent of a synthetic motor lubricant (Synlube) and 25% of the outstanding voting shares of JDP Ltd. (JDP) for $400,000 cash. The formula was developed by JDP, a company then owned 100% by Jack Douglas. Although some members of the board of directors felt and continue to feel some concern about Mr. Douglas’s continuing ownership of JDP, Mr. Douglas became the president of ACL in February 2003.

Synlube is unlike the synthetic motor oils currently on the market. Its innovative molecular structure accounts for what management believes is its superior performance. Although it is more expensive to produce and therefore has a higher selling price than its conventional competitors, management believes that its use will reduce maintenance costs and extend the life of the equipment in which it is used.

ACL’s main competitor is a very successful multi-national conglomerate that has excellent customer recognition of its products and a large distribution network. To create a market niche for Synlube, management is targeting commercial businesses in western Canada that service vehicle fleets and industrial equipment.

ACL’s existing facilities were not adequate to produce Synlube in commercial quantities. Management believed that there was a growing market for this product in western Canada, and in June 2004 ACL commenced construction of a new blending plant in a western province. After lengthy negotiation it received a $900,000 grant from the provincial government. The terms of the grant require ACL to maintain certain employment levels in that province over the next three years or the grant must be repaid. The new facilities became operational on December 1, 2004.

In addition to the grant monies received, ACL has financed its recent expansion with a term bank loan. Management is considering a share issue later in 2005 to solve the company’s cash flow problems. ACL’s March 31, 2005 draft balance sheet is provided in Exhibit I.

Although they had been with the company since its inception, ACL’s auditors have just resigned. It is now April 22, 2005. You and a partner in your firm meet with Jack Douglas to discuss the services your firm can provide to ACL for the year ended March 31, 2005. During your meeting, you collected the information contained in Exhibit II.

As you return to the office, the partner tells you that she is interested in having ACL as an audit client. Before making a decision, however, she wants a memo from you covering in detail the accounting and audit issues that you see arising from this potential engagement.

Required:

Prepare the memo to the partner.




EXHIBIT I

AutoCare Ltd.

DRAFT BALANCE SHEET

as at March 31

(in thousands of dollars)

Assets







2005    

2004





       (Unaudited)
         (Audited)

Current


Accounts receivable


$   213


$   195


Inventories



  1,650


     615


Prepaid expenses


       45


       30






  1,908


     840

Capital assets




  2,120


     716

Investment in JDP Ltd.


         1


         1

Deferred development costs


  1,979


     686

Patent





     835


     835






$6,843


$3,078

Liabilities

Current


Bank indebtedness


$1,225


$   462


Accounts payable


     607


     476


Current portion of long term debt
     400


       98


Advances from shareholders

     253


          -






  2,485


  1,036

Long-term debt



  3,114


     650






$5.599


$1,686

Shareholders’ Equity

Capital stock




  2,766


  2,766

Deficit





(1,522)


(1,374)






  1,244


  1,392






$6,843


$3,078


EXHIBIT II

INFORMATION COLLECTED BY CA

1. The “capital assets - new plant” account in the general ledger has increased by $1.435 million during the year. An analysis of this increase is as follows:



Land






$200,000



Building, net of grant of $900,000


  416,000



Advertising (promotion of Synlube product)

  125,500



Relocation costs (moving plant management)
  216,300



Equipment





  319,200



Legal fees (Synlube patent-infringement lawsuit)
    67,400



Labour costs (amounts paid to employees during



 training period)




    90.600








         $1,435,000
As no significant orders of Synlube have been received to date, no amortization has been charged this year.

2. ACL has commenced a lawsuit against its major competitor for patent infringement and industrial espionage. Management has evidence that it believes will result in a successful action, and wishes to record the estimated gain on settlement of $4 million. Although no court date has been set, legal correspondence shows that the competitor intends “to fight this action to the highest court in the land.”

3. Deferred development costs represent material, labour, and subcontract costs incurred during 2003 and 2004 to evaluate the Synlube product and prepare it for market. Almost 80% of the subcontract costs were paid to JDP. ACL has not taken any amortization to date but thinks that a period of 20 years would be appropriate.

4. Jack Douglas contacted your firm after ACL’s former auditors resigned. The previous auditors informed Mr. Douglas that they disagreed with ACL’s valuation-~of deferred development costs and believed that the balance should be reduced to a nominal amount of $1.

5. Royalties of $0.25 per litre of Synlube produced are to be paid annually to JDP.

6. Inventory consists of raw materials, semi-processed liquids, and finished goods. Approximately 60% of the value of inventory relates to Synlube production at the new plant. The fourth-quarter inventory count resulted in a significant book-to-physical adjustment. Management thinks that the standard costs used may have caused the problem.

7. The $3.514 million term bank loan is secured by a floating charge over all corporate assets. The loan agreement requires ACL to undergo an annual environmental assessment of the old and new blending facilities. During your meeting, Mr. Douglas enquired whether your firm could provide such an assessment.
8. ACL has incurred substantial losses during the past three fiscal years.

QUESTION 1
Suggested approach

Memo to:
Partner

Memo from:
CA

Subject:
AutoCare Ltd. Engagement

Overview

There are a number of factors that affect our exposure (business risk) and the audit risk associated with this engagement. These factors must be carefully assessed before we decide whether to accept the engagement. ACL is a company in distress. It has made a large investment in a new product that does not appear to have a market. A competitor dominates the market and ACL is having difficulty making inroads. The liquidity and cash flow positions of the company are very poor—it has considerably more current liabilities than current assets and over 85% of the current assets are inventory that does not appear saleable at present. The company’s bank loan could be called depending on the outcome of an environmental assessment, and the government grants have to be repaid if the terms of the grant have been violated. All told, these circumstances suggest that the company may not be a going concern and thus poses a significant audit and business risk for us. If we take the engagement, we will have to be very careful with the audit so that we have a high probability of successfully defending ourselves in court, should we be sued.

Further increasing the risk associated with the engagement is the fact that ACL has two incentives to “window dress” the financial statements. First, the company is considering a share issue to raise cash. The financial statements in a prospectus are an important source of information, and prospective investors will likely rely on them. If ACL fails soon after the share issue, the investors will likely contend that the financial statements were misleading. Although we would be able to defend our audit approach in court, we could still lose and incur significant losses. Even if we did not lose, we would have incurred significant legal costs. Second, if the bank decides that lending money to ACL has become too risky, it will call the loan. The bank financing is crucial for the time being. Since the bank has taken all assets as security, it will likely be concerned about asset valuation as well as performance measures. These situations add audit risk; thus, we have to ensure that the extent of testing is adequate to detect any attempts to window dress.

Another factor increasing risk is the resignation of the previous auditor over a disagreement with the client, suggesting that the client may be difficult to deal with. We should contact the previous auditor to obtain additional information about the disagreement.

Perhaps most importantly, there are some issues surrounding the relationship between Mr. Douglas as president of ACL and Mr. Douglas as the major shareholder of JDP. Significant activity has taken place between the two companies, and a conflict of interest between the two is possible. In essence, Mr. Douglas could transfer wealth from ACL to JDP to his own advantage. The board of directors of ACL seems concerned about this relationship. There is no evidence of a problem at this time, but we will have to be wary when conducting our audit and check terms and conditions of transactions between ACL and JDP.

Finally, ACL operates in an environmentally sensitive industry, which poses additional risk with respect to environmental liabilities. If we fail to ensure adequate disclosure of such liabilities we could be sued if users believe or argue that the financial statements were misleading.

Specific Issues

Going concern

Ultimately, the most difficult issue we will have to face in the audit of ACL is whether the company is a going concern. The difficulties faced by the company are severe, and survival is by no means likely. Among the circumstances that suggest that ACL is not a going concern is the serious working capital deficiency of $577,000. The deficiency may actually be worse than that because 60% of the inventory is Synlube, which may not be saleable. The deficiency is more severe than at the March 2004 year end. More immediately, ACL has no cash on hand to pay the accounts payable and the current portion of long-term debt that is due. These circumstances indicate that the company needs short-term cash to survive. Even if Synlube proves to be successful, ACL may not be able to survive the current crisis.

In addition the company has suffered substantial losses over the last three years. While losses do not necessarily imply that the company’s survival is in doubt, they do give some indication that it is not successful. Since the company’s product base has fully matured, the poor income performance suggests that it is not able to make money from its existing products (which is why it has developed Synlube). However, ACL’s recognition of the need to diversify may have come too late. It seems to be relying heavily on Synlube for survival even though the prospects do not appear good for the product, given the difficulty the company is having in marketing it. In addition, the company may be liable to the provincial government for the grant if it does not meet the employment levels required by the grant. Since Synlube is not selling, the company may not have the financial resources or the sales volume to justify the number of employees required.
Without Synlube sales, ACL may be unable to generate sufficient cash to pay the current portion of the bank loans that are due. If so, the bank may call its loans. Regardless, the company’s poor financial condition may motivate the bank to call its loans once it sees the financial statements (whether or not going concern issues are discussed in the statements). The bank may be inclined to pull the loan since it has a claim against all the company’s assets, and calling the loan now will likely minimize its loss. If the bank does call its loans, ACL is almost certainly doomed. Of course, if going concern issues are raised in the statements, the bank will almost certainly call the loan. The dilemma of the self-fulfilling prophecy arises: if going concern issues are raised in the statements, the likely reaction will probably result in the demise of the entity. Therefore care must be exercised in coming to a decision on the going concern question.

If we determine that ACL is not a going concern, we must ensure that there is adequate disclosure in the statements so that readers are aware of the going concern issue. ACL will have to include a note to the financial statements outlining the problem, and the valuation base will have to be on a liquidation rather than a historical cost basis. If ACL does not comply, we will have to make the situation clear in our audit opinion.

Related party transactions

Transactions between ACL and JDP are between related parties because the president of ACL controls JDP. Therefore these transactions must be disclosed in the financial statements. Although sales of Synlube have been insignificant, royalty payments may be material because they are based on production not sales. Inventory has increased by $1 million in the last year, suggesting that ACL is producing a lot of Synlube but not selling it. Despite poor sales, Mr. Douglas may be directing the company to produce Synlube because, as the major shareholder of JDP, he benefits from each unit of Synlube produced.

The royalty payments can be considered transactions in the normal course of operations and should be accounted for at the exchange amount. It is not clear whether the subcontracting costs can be considered transactions in the normal course of operations. To be so considered, subcontracting (which can be considered a service) should be recurring. It is not clear from the information at hand whether the subcontracting costs can be considered recurring. If the subcontracting costs are deemed to be not in the ordinary course of business, the transaction is recorded at carrying value. The effect would be to lower the assets recorded on the balance sheet.

Finally, because of the relationship between JDP and Mr. Douglas and the extent of the business carried out between JDP and ACL, we should consider the possibility that some of the costs billed by JDP are fictitious or not valid, and claims for reimbursement are intended to transfer wealth from the stakeholders in ACL to Mr. Douglas.

Government grant

ACL received a grant of $900,000 from the provincial government on condition it maintains certain employment levels in the province over three years. Given ACL’s lack of success in marketing Synlube, it is possible that the employment levels required by the grant have not been met, in which case the grant is repayable. If so, a liability for repayment of the grant must be included in the statements. We will have to determine employment levels to find out whether the terms of the grant have been met.

ACL has netted the grant against the capital cost of the plant. Because the grant is linked to maintaining employment levels, it could be argued that the grant should be credited to the income statement against labour costs over the three years. This treatment would be advantageous to ACL because it would have a more favourable effect on income than netting the grant against the capital cost and would be more consistent with ACL’s objective of improving the appearance of the financial statements. The treatment used by ACL of netting the grant against the cost of the plant (and therefore amortizing the grant over the life of the plant) also makes sense since the grant money was used to help build the plant.

Deferred development costs/patent

Almost 30% of ACL’s assets are deferred costs incurred in the development of Synlube. The costs include material, labour and subtracting costs (80% of the subtracting costs were paid to JDP). The previous auditors resigned over these costs because they believed that the deferred development costs should be written down to $1.

According to the CICA Handbook, development is the translation of research findings into the development of new products prior to the commencement of commercial production or use. Many of the costs incurred in regard to Synlube likely fit the definition of development costs. What is in doubt is whether they can be capitalized as development costs.

To capitalize development costs all of the following must be met: (1) the product is clearly defined and the costs attributable to it can be identified; (2) the technical feasibility of the product has been established; (3) management intends to bring the product to market; (4) the future market for the product is clearly defined; and (5) adequate resources exist or are expected to be available to complete the project. The deferred development costs cannot exceed the amount reasonably expected to be recovered.

It appears that criteria (1) to (3) are met since production facilities are in place and the product is being produced. Criteria (4) and (5) are in doubt because a market has not been established for the product and it is not selling. Furthermore, it is very much in doubt whether resources exist to complete the project and whether the costs incurred can be recovered, considering both the difficulty ACL is having making inroads in the market place and the company’s troubled financial position. Thus, since Synlube may never be profitable, it is difficult to justify capitalizing the costs.

ACL has not yet begun amortizing the deferred costs. Assuming that capitalizing the development costs is acceptable, amortization should begin with commercial production of the product. Since the production facility became operational in December 2004, that would be a reasonable time to begin amortization. The company thinks that amortizing the product over 20 years makes sense. This period may be too long in light of the problems faced by the company and the nature of the product. We need to ascertain the average life span of this type of product to determine whether 20 years is reasonable. At this point, however, assuming that capitalization can be justified at all, a shorter period of amortization should be used because of the weak financial position of the company.

The deferred development costs are a crucial part of the engagement. These costs plus the patent represent over 40% of the assets on the balance sheet. If the costs related to Synlube are capitalized, the implication is that these costs have future benefits and that the costs will at least be recovered. Users such as the bank and prospective shareholders may rely on this information in making their decisions. If the company ultimately fails, these users may point to these costs as making the financial statements materially misleading. In such circumstances, our firm will be subject to lawsuits and significant liabilities.

Inventory

Synlube represents 60% of ACL’s inventory. It is not clear whether any of the Synlube product will ever be sold given the difficulties the company has had in developing a market for the product. As a result the inventory may be overvalued if it is kept on the balance sheet at cost. In that case we are at risk because the bank is relying on the statements for the loan (collateral is tied to all assets). If the inventory proves to be overvalued because there is no market for the product, the statements will be materially misleading. Once again, we need to satisfy ourselves that a market for Synlube will develop soon to justify keeping that part of the inventory on the books.

Since we are taking over the audit of this client, we have to rely on the previous auditors regarding the year end count of inventory (and ensure that the previous auditor did in fact count the year end inventory). If we are unable to rely on the previous auditors’ work, we will have to do additional work to establish the closing inventory balance. We must also investigate the book-to-physical adjustment. The adjustment should be viewed with suspicion because Mr. Douglas has the incentive to overstate production because of the royalty payments made to JDP. Pending investigation of the problem, we should exercise caution in relying on internal controls.

Start-up costs

It appears that ACL is attempting to defer the start-up costs associated with Synlube as they are capitalized along with the land, building, and equipment. According to EIC 27, start-up costs can be deferred if (1) they are directly related to placing the new business into service; (2) the cost would not otherwise have been incurred; and (3) it is probable that the expenditure is recoverable from future operations of the new business. The current financial position of the company, together with the non-existent sales of Synlube, calls into question whether these criteria, particularly the third criterion, can reasonably be expected to be achieved. Considering the company’s poor situation, we could also question whether it is reasonable to value the tangible fixed assets at cost since there is some doubt whether the cost of those assets will be recovered.

Start-up costs should be deferred only to the point where the new business is ready to commence commercial operations. In the case of Synlube we must consider when commercial operations begin. The production facility became operational on December 1, 2004, so from a capability standpoint, commercial production has been achieved. Thus amortization of the costs should begin. The amortization period should be short because the nature of the costs implies that the benefits are short term.
From ACL’s perspective, delaying amortization of the start-up is consistent with its incentive to window-dress for the benefit of the bank and of prospective investors if shares are offered.

Lawsuit

ACL has launched a lawsuit against its major competitor for patent infringement and industrial espionage. ACL’s survival may depend on the success of this suit The company is confident of winning the suit and wishes to accrue a $4 million gain in the statements. Such accounting would be attractive to ACL, as it would boost income and create the perception of a pending significant cash inflow (which would be important for users of the information such as the banker or prospective investors). GAAP, however, does not allow accrual of contingent gains.

The existence of the lawsuit can be disclosed in the notes, but care must be exercised in disclosing the amount of the gain. GAAP is very conservative in this area and the contingent gain would normally be disclosed only if the probability that the gain will be realized is high. Also, it is very difficult to predict the outcome of such cases and, even if it appears ACL will win, it will not necessarily receive $4 million.

It is possible that ACL will not be able to survive the fight because of its poor financial condition. This means that even if ACL could eventually win, there may not be an ACL around to reap the benefits.

Environmental assessment

The client has asked whether we can do the environmental assessment required in the bank loan. Clearly, we cannot provide this service since, as chartered accountants, we do not have the expertise to do this type of work. The outcome of the assessment is important to our work, however, because it may show that there are environmental liabilities that should be disclosed/accrued in the financial statements. Also, if the assessment is negative, the viability of ACL may come into question because the bank may withdraw its loan. We may be able to provide a service to the client by performing an evaluation of the environmental controls of ACL.


Examiners’ Comments

General Comments

No marks were awarded in the question for identification and discussion of audit procedures. The accounting firm had not yet accepted the engagement, so the memo to the partner should have addressed issues at a relatively high level, providing information that would help her decide whether or not to accept the engagement. Discussion of audit procedures would thus be inappropriate.

Specific Comments

Many candidates identified factors that indicated that the engagement was risky.
Many candidates recognized the conflict of interest between Mr. Douglas and ACL, and many recognized the broad economic implications of the conflict. However, relatively few candidates received the professional capability mark for discussing “...in reasonable depth, the impact of Jack Douglas on accounting and audit issues.” Depth in analysis means more than making a single reference to an issue or giving broad recognition to the issue. An in-depth analysis must link together several points or aspects that clearly indicate that the candidate appreciates the scope and implications of the issue. The candidate must then apply his or her understanding of the issue to resolve or recommend solutions to specific problems. Thus candidates should have demonstrated their understanding of the conflict of interest issue in analyzing its accounting and auditing implications.

Candidates should also recognize that ranking of issues is important when considering analyzing an issue in depth. it is not practical or reasonable to expect a candidate to discuss every issue in a question (or indeed in practice) in depth. The issues that require detailed attention are those that are crucial to the situation.

Candidates should notice how the solution links together facts from the question with interpretation, discussion and conclusion.

Many candidates recognized there were serious doubts as to whether ACL was a going concern (both in the context of the problem itself and in the context of risk). Yet fewer candidates received the professional capabilities mark for discussing “the going concern problem in reasonable depth.” Candidates provided only one or a small number of independent points on the going concern problem instead of a more thorough, in-depth analysis.

Most candidates recognized that ACL and JDP were related parties. Very few candidates made any additional valid comments about related accounting or auditing aspects of the issue. This lack of follow through demonstrates a “shotgun” approach to responding to questions. Once they have identified a problem, candidates should try to explore it in some depth. From the partner’s perspective, once the issue had been identified, the basic accounting, audit and contextual issues should have been discussed, providing her with adequate information to assess the issue. By going no further than stating that the conflict existed, candidates would leave the partner thinking, “Yeah, so what?”

Candidates should note that marks were not awarded for simply knowing the contents of the Handbook section. To receive the marks it was necessary use the facts in the question to interpret how the Handbook should be applied. Candidates had to decide, based on the available information, whether capitalization of the development costs could be justified.
Very few candidates received the mark for discussion of the EIC regarding accounting for start-up costs. This mark was awarded only if the EIC requirements were tied specifically to the facts of the case. Simply knowing the details of an EIC or the Handbook is not enough to receive a mark. Candidates must demonstrate their understanding of the reporting requirement by tying it specifically, directly, and clearly to the facts in the question.
Many candidates discussed how long the start-up costs could be legitimately delayed. However, few candidates went on to discuss the amortization period. Candidates should attempt to think through the issues they identify and carry their discussions beyond the initial point. This follow through to related points demonstrates depth of analysis.
Few candidates discussed the motivation that existed for ACL to delay amortization of the start-up costs. Discussing the underlying motivation is important. By doing so, a candidate provides important information to the partner for her assessment of whether ACL should be accepted as a client, and shows an understanding of the relevance of contextual factors in evaluating a problem.
Many candidates knew that the Handbook does not permit the accrual of contingent gains. Some discussed whether or not the lawsuit should be disclosed in the notes. However, very few candidates discussed the lawsuit issue in the broader context. A good answer not only incorporates the reporting requirements but also considers the impact and implications of events on the client and the engagement. For example, the importance of the lawsuit to the survival of ACL was discussed by very few candidates.
